
 

FRACTION NUMBER STORIES -1 

Q1. Jane bought 8 ⅚ inches of ribbon to decorate her house for her birthday party.  She used 3 ⅙ 

inches of the ribbon.  What was the remaining length of the ribbon? 

 

 

 

 

Q2. In an oil refinery, 21 ⅛ litres of oil was poured into a container on Monday, 34 ⅝ litres of oil was 

poured on Tuesday and 42 ⅛ litres of oil was poured on Wednesday.  What was total amount of oil 

in the container on Wednesday? 

 

 

 

 

Q3. The length of a log of wood was 8 ⅔ meters.    A woodcutter cut the log of wood at 2 ⅓ meters 

to sell to the furniture industry.  How long is the log of wood now? 

 

 

 

 

Q4.  My father drove to Shimla for our summer vacation.  We covered 3 ⅛ km in 1 hour.  After taking 

a tea break we again drove 5⅝ km.  What was the total distance covered by us? 

 

 

 


